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2023 年 6 月英语四级考试阅读理解【精选 6 篇】 

 

  英语阅读在英语四级考试中占有相当大的。分值，加强英语阅读

的练习十分重要。本店铺精心为您带来了 2023 年 6 月英语四级考试

阅读理解【精选 6篇】，如果对您有一些参考与帮助，请分享给最好

的朋友。 

  英语四级阅读理解考试题及答案 篇一 

  Passage Three 

  Method of Scientific Inquiry 

  Why the inductive and mathematical sciences ， after their 

first rapid development at the culmination of Greek 

civilization ， advanced so slowly for two thousand years —and 

why in the following two hundred years a knowledge of natural 

and mathematical science has accumulated ，  which so vastly 

eXceeds all that was previously known that these sciences may 

be justly regarded as the products of our own times — are 

questions which have interested the modern philosopher not less 

than the objects with which these sciences are more immediately 

conversant.Was it the employment of a new method of research ， 

or in the eXercise of greater virtue in the use of the old 

methods， that this singular modern phenomenon had its origin? 

Was the long period one of arrested development ， and is the 
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modern era one of normal growth? Or should we ascribe the 

characteristics of both periods to so-called historical 

accidents —to the influence of conjunctions in circumstances 

of which no eXplanation is possible ， save in the omnipotence 

and wisdom of a guiding Providence? 

  The eXplanation which has become commonplace ， that the 

ancients employed deduction chiefly in their scientific 

inquiries ， while the moderns employ induction ， proves to be 

too narrow ， and fails upon close eXamination to point with 

sufficient distinctness the contrast that is evident between 

ancient and modern scientific doctrines and inquiries.For all 

knowledge is founded on observation ， and proceeds from this 

by analysis ， by synthesis and analysis ， by induction and 

deduction ， and if possible by verification ， or by new appeals 

to observation under the guidance of deduction —by steps which 

are indeed correlative parts of one method; and the ancient 

sciences afford eXamples of every one of these methods ， or 

parts of one method ， which have been generalized from the 

eXamples of science. 

  A failure to employ or to employ adequately any one of these 

partial methods， an imperfection in the arts and resources of 

observation and eXperiment ，  carelessness in observation ， 
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neglect of relevant facts ， by appeal to eXperiment and 

observation —these are the faults which cause all failures to 

ascertain truth ， whether among the ancients or the moderns; 

but this statement does not eXplain why the modern is possessed 

of a greater virtue ， and by what means he attained his 

superiority.Much less does it eXplain the sudden growth of 

science in recent times. 

  The attempt to discover the eXplanation of this phenomenon 

in the antithesis of “facts ” and “theories ” or “facts ” 

and “ideas ”—in the neglect among the ancients of the former ， 

and their too eXclusive attention to the latter —proves also 

to be too narrow， as well as open to the charge of vagueness.For 

in the first place ， the antithesis is not complete.Facts and 

theories are not coordinate species.Theories ， if true ， are 

facts —a particular class of facts indeed ， generally compleX， 

and if a logical connection subsists between their constituents ， 

have all the positive attributes of theories. 

  Nevertheless ， this distinction ， however inadequate it may 

be to eXplain the source of true method in science ， is well 

founded ， and connotes an important character in true method.A 

fact is a proposition of simple.A theory ， on the other hand， 

if true has all the characteristics of a fact ， eXcept that its 
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verification is possible only by indirect ， remote ， and 

difficult means.To convert theories into facts is to add simple 

verification ，  and the theory thus acquires the full 

characteristics of a fact. 

  1、The title that best eXpresses the ideas of this passage 

is 

  [A]。 Philosophy of mathematics.[B] 。 The Recent Growth in 

Science. 

  [C]。 The Verification of Facts.[C] 。 Methods of Scientific 

Inquiry. 

  2、According to the author ， one possible reason for the 

growth of science during the days of the ancient Greeks and in 

modern times is 

  [A]。 the similarity between the two periods. 

  [B]。 that it was an act of God. 

  [C]。 that both tried to develop the inductive method. 

  [D]。 due to the decline of the deductive method. 

  3、The difference between “fact ” and “theory ” 

  [A]。 is that the latter needs confirmation. 

  [B]。 rests on the simplicity of the former. 

  [C]。 is the difference between the modern scientists and 

the ancient Greeks. 
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  [D]。 helps us to understand the deductive method. 

  4、According to the author ， mathematics is 

  [A] 。 an inductive science.[B] 。 in need of simple 

verification. 

  [C]。 a deductive science.[D] 。 based on fact and theory. 

  5、The statement “Theories are facts ” may be called. 

  [A]。 a metaphor.[B] 。 a paradoX. 

  [C]。 an appraisal of the inductive and deductive methods. 

  [D]。 a pun. 

  Vocabulary 

  1、inductive 归纳法 

  induction n. 归纳法 

  2、deductive 演绎法 

  deduction n. 演绎法 

  3、culmination 到达顶/极点 

  4、conversant （with ） 熟悉的，精通的 

  5、eXercise 运用，实行，执行仪式 

  singular 卓越的，非凡的，独一无二的 

  6、conjunction 结合，同时发生 

  7、omnipotence 全能，无限权/威力 

  8、Providence （大写）指上帝，天道，天令 

  9、commonplace 平凡的，陈腐的 
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  10、inquiry 调查，探究（真理，知识等） 

  11、doctrine 教义，学说，讲义 

  12、correlative 相互关联的 

  13、antithesis 对立面，对偶（修辞学中）对句 

  14、coordinate 同等的，并列的 

  15、subsist 生存，维持生活 

  16、attribute 特征，属性 

  17、connote 意味着，含蓄（指词内涵） 

  难句译注 

  1、Why the inductive and mathematical sciences ， after their 

first rapid development at the culmination of Greek 

civilization ， advanced so slowly for two thousand years are 

questions which have interested the modern philosopher not less 

than the objects with which these sciences are more immediately 

conversant. 

  [结构简析] 破折号后面的内容（见难句译注（2）先撇开。这样

便于理解，整个句子是主谓表结构，前面一个问题句作主语，question

后跟一个定语从句，和 not less than 连接的表语。 

  [参考译文] 为什么归纳发和数学科学，在希腊文明达到顶点时

首先快速发展后，两千年内进展缓慢，现在哲学家对这个问题的兴趣

不亚于对这些科学很熟悉研究的对象。 

  2、…— and why in the following two hundred years a 
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knowledge of natural and mathematical science has accumulated ， 

which so vastly eXceeds all that was previously known that these 

sciences may be justly regarded as the products of our own times

—… 

  [参考译文] 问什么在后来的二百年中自然科学数理科学积累起

来，它们广泛的超越了过去已知的一切，所以就把这些科学视为我们

时代的产品。 

  3、arrested development 停滞发展（被制止了的发展）。 

  4、Or should we ascribe the characteristics of both periods 

to so-called historical accidents — to the influence of 

conjunctions in circumstances of which no eXplanation is 

possible ， save in the omnipotence and wisdom of a guiding 

Providence? 

  [参考译文] 或者我们是否应当把两个阶段的特点归因于所谓的

历史的偶然性（意外事件）——归因于客观环境中相似（结合）的影

响。这一点除非以指导一切的上帝的智慧和无限权利来解释，否则难

以解说清楚。 

  写作方法与文章大意 

  这是篇议论文，论及科学探索的方法，总体是因果写法，具体分

析又是对比写法。作者采用问答方式探究为什么希腊文明顶峰之后两

千年，科技发展缓慢，而最近两百年又迅速发展超越前人，其原因在

哪里？是采用新，旧方法所致，历史之偶然性，还是上天安排。 
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  然后以现代用归纳法，古代用演绎法太狭隘说明科学总是在观察，

实验，检验，证实中前进。但事实难以解释慢和快的现象。最后以“对

立”——事实和理论对立古代重视事实来解释。然这两者是对立的统

一。真正的理论就是事实。事实，构成之间具逻辑联系，就具有理论

的一切正面特性。这种区分虽不足以解释科学研究中真正方法，但奠

定了良好的基础，含有真正方法中的重要特性。 

  答案详解 

  1、D.科学研究/探索的方法。文章一开始就提出问题，为什么从

希腊文化顶峰时期后两千年来归纳法和数学科学发展如此缓慢，而后

的两百年又超越了前人，是应用新，旧方法关系还是其它（见难句译

注 1.（2）。第二段讲埃及古代在科学探索中运用了演绎推理法，而

现在应用了归纳法。这种解释太狭隘，经仔细审核，难以很清晰地点

明古代和现代科学教义和探究上明显的差别。因为一切知识都基于观

察，通过分析，综合，或综合分析，归纳演绎推理，有可能的话，经

过校正或经由演绎指导下再观察而向前推进。第三段进一步阐明不用

这些方法观察，实验；忽略相关事实，推理不慎；不能答出理论的结

论，再用实验或观察来检验等或用得不全，不论在古代还是现代都会

失败。但这不能说明为什么现代科学具有较高的功效，通过什么方式

方法，超越了前人，更不用说说明最近科学突飞猛进的原因。第四、

五段涉及事实和理论的关系。 

  A.数学的哲学，文内没有提。 B. 近来科学的发展。 C. 事实的验

证，只是最后两段提及验证方法之作用。 
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 2、B.是上天的安排，这是作家在用方法论等失败后得出的结论。

见难句译注 4.第一段最后一句话。 

  A.两个阶段的相似性。 。 两者都试图应用归纳法。 D. 由于演

绎法的衰落。 

  3、A.后者需要证实。答案在第四、五段，死段试图在事实的对

立面和理论，或事实和思想中发现上述现象的解释看起来有饿太狭隘，

也会因模糊不清遭批评。因为，对立面不全面，事实和理论不是同类

的事物。理论，如果是真正的理论，就是事实——一种特殊类别的事

实，一般复杂，但仍是事实。而事实，从词的狭义来说，如果很复杂，

如果各成分中存在着逻辑的联系，就具有理论的一切主要特征。第五

段第二句，事实是一个提议，通过运用知识的源泉和经验而证实的提

议直接而又简单。而理论，若是真理论，就有事实的一切特性（除非

其证实只能通过非直接的，遥远的和困难的方式方法）把理论转成事

实必须用简单的核实，理论因此具有事实的一切特性。 

  B.前者简单。 C. 是现代科学家和古希腊的差异。 D. 帮助我们了

解演绎法，三项都不对。 

  4、C.是推理演绎科学，这个问题常识就能回答。 

  A.归纳法科学。 B. 需要简单证实。 D. 基于事实和理论。 

  5、B.是一个悖论，见第四、五段注释。 

  A.比喻。 C. 对归纳法和演绎法的赞扬。 D. 双关语。 

  英语四级阅读理解考试题及答案 篇二 

  Trees should only be pruned when there is a good and clear 
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， fortunately ，the number of such 

reasons is small.Pruning involves the cutting away of obergrown 

and unwanted branches ， and the ineXperienced gardener can be 

encouraged by the thought that more damage results from doing 

it unnecessarily than from leaving the tree to grow in its own 

way. 

  First ， pruning may be done to make sure that trees have 

a desired shape or size.The object may be to get a tree of the 

right height ， and at the same time to help the growth of small 

side branches which will thicken its appearance or give it a 

special shape.Secondly ， pruning may be done to make the tree 

healthier.You may cut diseaed or dead wood ， or branches that 

are rubbing against each other and thus cause wounds.The health 

of a tree may be encouraged by removing branches that are 

blocking up the centre and so preventing the free movement of 

air. 

  One result of pruning is that an open wound is left on the 

tree and this provides an easy entry for disease ， but itis a 

wound that will heal.Often there is a race between the healing 

and the desease as to whether the tree will live or die ， so 

that there is a period when the tree is at risk.It should be 

the aim of every gardener to reduce which has been pruned smooth 
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， for healing will be slowed down by roughness.You 

should allow the cut surface to dry for a few hurs and then paint 

it with one of the substances available from garden shops 

produced especially for this purpose.Pruning is usually 

without interference from the leaves and also it is very 

unlikely that the cuts yu make will bleed.If this does happen，

it is ， of course ，impossible to paint them properly. 

  1、．Why should pruning be done? 

  A．To make the tree grow taller.B ．To improve the shape of 

the tree. 

  C．to get rid of the small ranches 。 D．To make the small 

branches thicker. 

  2、．Trees become unhealthy if the gardener__________. 

  A.giving a tree a special shape and adefinite height 

  B.removing small side branches and making atree look less 

thick 

  C.allowing too many branches to grow in themiddle 

  D.having a tree surrounded by many othertrees 

  3、．Why is a special material painted on the tree? 

  A．To help a wound to dry.B ．to cover a rough surface. 

  C．To make a wound smooth.D ．To prevent disease entering 

a wound. 
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 4、．A good gardener prunes a tree _________ 。 

  A．several times throughout the year B ．as quickly as 

possible 

  C．occasionally when necessary D ．regularly every winter 

  5、．What was the author ’s purpose when writingthis passage? 

  A．To discuss different methods of pruning. 

  B．To introduce some common knowledge of pruning. 

  C．To eXplain how trees developdisease. 

  D．To give practical instruction for pruning atree. 

  20XX年 6月英语四级考试阅读理解 篇三 

  When global warming finally came ，  it stuck with 

avengeance( 异乎寻常地).In some regions ， temperatures rose 

several degrees in less than acentury.Sea levels shot up nearly 

400 feet.floodingcoastal settlements and forcing people to 

migrateinland.Deserts spread throughout the world 

asvegetation shifted drastically in North America.Europe and 

Asia.After driving many of theanimals around them to near 

eXtinction ， people were forced to abandon their old way of 

lifefor a radically new survival strategy that resulted in 

widespread starvation and disease.The adaptation was farming: 

the global-warming crisis that gave rise to it happened 

morethan 10 ，000 years ago. 
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 As environmentalists convene in Rio de Janeiro this week 

to ponder the global climate of thefuture ， earth scientists 

are in the midst of a revolution in understanding how climate 

haschanged in the past-and how those changes have transformed 

human eXistence.Researchershave begun to piece together an 

illuminating picture of the powerful geological 

andastronomical forces that have combined to change the planets 

environment from hot tocold ， wet to dry and back again over 

a time period stretching back hundreds of millions ofyears. 

  Most important.scientists are beginning to realize that 

the climatic changes have bad a majorimpact on the evolution 

of the human species.New research now suggests that 

climateshifts have played a key role in nearly every 

significant turning point in human evolution: fromthe dawn of 

primates( 灵长目动物 )some 65 million years ago to human 

ancestors rising up towalk on two legs.from the huge eXpansion 

of the human brain to the rise of agriculture.Indeed ， the human 

history has not been merely touched by global climate change， 

somescientists argue ， it has in some instances been driven by 

it. 

  The new research has profound implications for the 

environment summit in Rio.Amongother things ，  the findings 
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that dramatic climate change is nothing new 

forplanet Earth.The benign( 宜人的)global environment that has 

eXisted over the past 10 ， 000 years-during which 

agriculture.writing ，  cities and most other features of 

civilization appeared-isa mere bright spot in a much larger 

pattern of widely varying climate over the ages.In fact ， the 

pattern of climate change in the past reveals that Earths 

climate will almost certainly gothrough dramatic changes in the 

future-even without the influence of human activity. 

  1.Farming emerged as a survival strategybecause man had 

been obliged__________. 

  A)to give up his former way of life 

  B)to leave the coastal areas 

  C)to follow the ever-shifting vegetation 

  D)to abandon his original settlement 

  2.Earth scientists have come to understand that 

climate____________. 

  A)is going through a fundamental change 

  B)has been getting warmer for 10 ，000 years 

  C)will eventually change from hot to cold 

  D)has gone through periodical changes 

  3.Scientists believe that human evolution________. 
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